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(English Version)

Note : () You must write the s ubject-code/paper-code 146/C in the box provided on the 1y,

page of your answer-hook.

(1) Make sure that the answer-book contains all pages (neluding title page) Inlact ang
are properly serialed as soon as you receive i,

(1) Question/s attempted afier leaving blank page/s in the anngesrpook ek Aok
evaluated.

(tv)  There will be three sections of Question Paper (Part-A, Part-B and Partel):

(v) In Part-A, there will be 3 questions from I to 3.
* Question no. 1 will be of 6 sub parts. Multiple choice type questions of one mark

each.

*  Question no. 2 will be of 6 sub parts. Fill in the blanks type questions of one
mark each.

[ ]

Question no. 3 will be of 6 sub parts. True false type questions of one mark each

(vi) In Part-B, there will be 5 questions Sfrom Question no. 4 to 8, each question will be of
4 marks.

(vii) In Part—C, there will be 2 Questions Sfrom Question no. 9 to 10, each question will be of
6 marks.

(viii) All questions of Part-A, Part-B and Part-C are compulsory. However internal choice
may be given in Part-C.

Part-A

Multiple Choice Questions : 6x1=6

(i) With the introduction of online education services, students can learn from anywhere
using the.................. I
(a) Internet (b) Electricity

: (c¢) 5G Technology : (d) E-mail

(ii) Android operating systemisa................. operating system. I
(a) Computer (b) Mobile
(c) Technology (d) Virtual reality

(1) J— is word processor software. : |
(a) MS Window (b) MS Excel
(c) MS PowerPoint (d) MS Word

(iv) Switch-caseissimilarto................ statement, ; 1
(a) ifelse ' (b) ifelse if
(c) break ~ (d) goto

146/C-SS




!J

) 4.

(7)

1 T isa 2 portdevice. I
(a) Hub (b)  Switch
(¢) Router (d) Bridge
(VM) Wi-Fistands for ... |
(a) Wircless Field (b)  Wireless Fidelity
(¢) Wire Fire (d) - Wire Fidelity
Fillin the blanks : 6x1=6
(i) Servicesand facilities of E-governance is divided into ................ parts. 1
(17 [— gives an unique identity to Indian citizens. 1
(iii) Filteroptionis availablein................. tab of Excel. !
V) e isachess playing computer developed by IBM. 1
(53 O is a good example of narrow artificial intelli gence. 1
1

V) smmsymeenm is the process to convert information into computer readable form.

(i) Scale option is used to change the size of an image. 1
(i1) Duplicate Layer helps to make a duplicate copy of the active layer. 1
(iii) The process of making a movie is divided into five stages. 1
(iv) Video editing works with only one video clip. 1
(v) Merging a video means splitting the clip into several parts. 1
(vi) SHIFT + Cis a shortcut key for Copy of an ifnage. 1

Part-B
Answer these questions : i 5x4=20
Describe Net Banking. : 4
or
What do you mean by e-commerce ?
In brief describe Smart Governance. 4
“What is Excel ? : 4
or I
Explain Print and Print Preview options. 4
What is looping ? Name three different types of looping statements. 4
Give name of any four current trends in Information Technology. 4
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Part-C
Answer these questions
9.  Whatis a router ? Define functions of a router.

i

or

What is twisted pair cable ? Define its advantages and disadvantages.

10. Whatare the applications of artificial intelligence ? Explain.

or
What is the importance of Al ?
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